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Choose the best statement.

& subsidy to peanut growers lowers peamt growers' casts, lowers the market price of peanuts, and increases the demand for peanuis.

4 price support for peanut growers is a guaranteed price for peannts, which increases the quantity of peannts produced.
¢ Aprice support and a subsidy to peanut growers will make the peanut market more efficient f the support price is below the market pric

O For a support price set above the equiibrium price to increase peant growers' incomes, they must also receive a subsidy.
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The fundamental force driving internationl frade is comparative

Op. advantage: the country with the lower opportunity cost of production exports the gaod

)8, cost. a country trades with other couniries that produce cheaper gaods

Oc. advantage: a country exports those goods that have high prices

O abundance: the counfry that produces more than it needs exports the god




image6.png
With free trade between the United States and Canata, the Usited States exports tomatoes and Canada exports maple syrup. U.S. consumers

of tomatoes gain more than U.S, producers of tomataes lose
of tomatoes gain and Canadian consumers of maple syrup lose
of tomatoes lose more than U.S. producers of tomatoes gain

of maple syrup gain more than U.S. producers of maple syrup lose
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If Korea imposes an import quota on U.S. oranges, losers include Korean

consumers; consumers
consumers; producers
producers; consumers

producers; producers

of oranges and U 5.

of oranges
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The people who support restricted international trade say that

U.S. firms won' be able to compete with low-wage foreign labor if rade is free
protection saves jobs, in both the U5, and foreign economies
ouisourcing sends jobs abroad, which brings diversification and makes our economy more stable

protection is needed to enable U.S. firms to produce the things at which they have a comparafive advantage
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Electricity has a negative production externalty because

the marginal sacial cost of producing it exceeds the marginal private cost of producing it
its marginal benefit decreases as more of it is consumed
amarginal external cost lowers the marginal benefit from consuming it

the marginal private cost of producing i increases as more of itis produced





image10.png
A steel making plant pollutes the air and water so

the marginal private cost of producing steel equals the marginal external cost plus the marginal social cost
the marginal sacial cost of producing steel is less than the marginal private cost by the amount of the marginal external cost

the marginal sacial cost of producing steel exceeds the marginal private cost by the amownt of the marginal external cost

0. the marginal private cost of producing steel minus the marginal social cost equals the marginal external cost
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n unregulated paint factory that polutes a river results in and

overproduction; a price that exceeds the marginal benefit from the gaod

& underproduction; a price that equals the marginal benefit from the gaod

¢ an ineficient quantity produced, a marginal benefit below the marginal social cost

0. the efficient quantity produced; a marginal benefit equal to the marginal social cost
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Steel production creates polufion. If a tax is imposed on steel production equal to the marginal external cost of the polltion i creates,

Op. steel producers will continue to produce the ine fficient quantity of stecl
O the market price of steel wil rse by the amount of the tax

Oc. the deadweight loss created by steel producers will be cut to zero

0. steel praducers will ut polution to zero
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Because education generates a positve externality,

everyone who wants a college education should get one

O, subsidies to colleges or vouchers to students are means of achieving the efficient number of graduates
Oc. the quantity of education undertaken will achieve the social interest if it is free

OD. graduates' marginal benefit exceeds the society’s value of the education
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The health-care system in the United States costs per person

Op. half, higher
O double; higher
Oc. double; lower

D. half, lower

what it costs in other rich countries and U.S. health outcomes rank
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4 price celling imposed below the equiibrinm price

increases the demand for the good, which makes the shortage even larger

creates a black market in which the price might equal or exceed the equilibrivm price

creates a black market in which the price equals the price ceiing

0. leads to increased search activity, which reduces the shortage of the good
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4 price floor influences the outcome of a market i it is

anincentive for buyers to increase demand for the good
set ahove the equiibrium price

anincentive for sellers to decrease supply of the good

set below the equiibrium price
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Choose the best statement.

O#. A price support and a subsidy to peamut growers will make the peanut market more efficient f the support price is below the market price.
OF. A subsidy to peanut growers lowers peanut growers' costs, lowers the market price of peamits, and increases the demand for peamts
O For a support price set above the equiibrium price to increase peant growers' incomes, they must also receive a subsidy.

O, A price support for peamt growers s a guaranteed price for peanuts, which increases the quanity of peamuts produced.




